
1. I’m not on the track team, and Rick isn’t .

a. neither

b. either

c. too

2. Paraguay is a land-locked country, is 
Bolivia.

a. and so

b. and neither

c. and

3. Eve doesn’t like Mexican food, does Kim.

a. and so

b. and neither

c. but

4. Josh saw Mark last night, but I .

a. did

b. didn’t

c. don’t

5. Lemons have a high acid content, and tomatoes 
do .

a. either

b. neither

c. too

6. California is a very large state,
Vermont isn’t.

a. and neither

b. and so

c. but

7. Donna basketball, but I don’t.

a. plays

b. played

c. has played
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13 Additions with Conjunctions

C H A P T E R  T E S T

PART I. Choose the best answer to complete each sentence.

PART II. Find the error in each sentence and correct it.

8. Luisa has never failed an exam, and Celia hasn’t neither.

9. Angola was a Portuguese colony, and was Mozambique too.

10. The United States didn’t compete in the 1980 Olympics, but the United Kingdom and

Canada do.

11. Penguins can’t fly, and neither can’t ostriches.

12. Arizona doesn’t get much rain, and neither Nevada does.

13. I’m not in Satomi’s class, and Carl isn’t too.

14. I swim every day, and so does Sasha and Pedro.



15. A: I couldn’t go to the party last night.

B:

a. I couldn’t either.

b. Me too.

16. A: Susan has a car, but Megan doesn’t.

B:

a. I’ll ride with Megan.

b. Maybe Susan can take us.

17. A: Paul wants to go to the Tom Cruise movie, but
Koji doesn’t.

B:

a. What movie does Koji want to see?

b. Why doesn’t Paul like Tom Cruise?

18. A: Kim is majoring in chemistry.

B:

a. So is Derek.

b. Neither is Derek.

19. A: Holly doesn’t know how to play tennis.

B: I want to take lessons.

a. So do I.

b. Neither do I.

20. A: Tony doesn’t like chocolate.

B: I never eat it.

a. I don’t either.

b. Me too.
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PART III. Choose the best answer to complete each conversation.

Thinking Ahead to the TOEFL® Test

Additions with conjunctions are often tested in the Structure section of the TOEFL® test. Here is a
typical example:

The novels of William Faulkner were about life in the southern United States, and so .

A. those of Eudora Welty did too

B. were those of Eudora Welty

C. those of Eudora Welty were

D. did those of Eudora Welty

Total 20
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13 Answer Key

C H A P T E R  T E S T

PART I 

1. b

2. a

3. b

4. b

5. c

6. c

7. a

PART II 

8. Luisa has never failed an exam, and Celia hasn’t neither.

9. Angola was a Portuguese colony, and was Mozambique too.

10. The United States didn’t compete in the 1980 Olympics, but the United Kingdom 

and Canada do.

11. Penguins can’t fly, and neither can’t ostriches.

12. Arizona doesn’t get much rain, and neither Nevada does.

13. I’m not in Satomi’s class, and Carl isn’t too.

14. I swim every day, and so does Sasha and Pedro.

PART III 

15. a

16. b

17. a

18. a

19. b

20. a

did

either

either

can

do


